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Arrange the following greenhouse gases in the
decreasing order of their emissions in the
environment.

1. Carbon dioxide

2. Nitrous oxide

3. Methane

Select the correct answer using the code given
below.

(@) 1-2-3

(b) 1-3-2

(c) 2-1-3

(d) 3-2-1

Consider the following statements:

1. The Government of India (Allocation of
Business) Rules, 1961 are made by the
Ministry of Parliamentary Affairs.

2. The  ministries/departments  of  the
Government of India are created by the
President on the advice of the Prime
Minister.

Which of the statements given above is/are

correct?

(@ 1lonly

(b) 2 only

(c) Both1land 2

(d) Neither 1 nor 2

Environment Relief Fund (ERF) has been
established under the provisions of which of
the following?

(a) Environment (Protection) Act, 1986

(b) Public Liability Insurance (PLI) Act, 1991
(c) Biological Diversity Act, 2002

(d) National Green Tribunal Act, 2010
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Which of the following is/are the likely effects
of the inversion of temperature?

1. The occurrence of fog and frost

2. Atmospheric instability

3. Diffusion of dust and smoke is limited.
Select the correct answer using the code given
below.

(@) 1and 3 only

(b) 1 only

(c) 1and 2 only

(d) 1,2and 3

With reference to the recently announced
Special Liquidity Facility for Mutual Funds
(SLF-MF), by the RBI, consider the following
statements:

1. It aims to infuse liquidity in the debt
mutual  fund market through repo
operations conducted by the Reserve Bank
of India.

2. Funds availed under the facility shall be
used by banks only to extend loans to
retail consumers investing in mutual
funds.

Which of the statements given above is/are

correct?

(@ lonly

(b) 2 only

(c) Both1land2

(d) Neither 1 nor 2

In the context of scientific developments in

ancient India, which of the following

statements is/are correct?

1. Indians learned the decimal system from
the Arabs.

2. The rotation of the earth was known to
Aryabhatta.

3. Charaka was the first Indian to have
written an elaborate treatise on surgery.
Select the correct answer using the code given

below.

(@) 1and 2 only
(b) 2 only

(c) 1and 3 only
(d) 1,2and 3
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